
REAR-AXLE SLIDERS ADAPTABLE TO: 

SUZUKI VSTROM 1000 '14- 

REF:  8673N 

MOUNTING INSTRUCTIONS 

1) Remove the slider (1)  from the set supplied.
2) Without removing the other slider (1), place the rod (3) through the axle from the left side.

3) Mount the slider (1), fastening the set with the washer (5) and nut (4).

 Material supplied:

1 Protector derecho Right Slider 1 

2 Protector izquierdo Left Slider 1 

3 Varilla Rod 1 

4 Tuerca M6 DIN985 M6 nut DIN985 2 

5 Arandelas M6 DIN125 M6 washers DIN125 2 

6 Tapones con aros de color 

Azul-Rojo-Oro-Plata 

Caps with color rings 

Blue-Red-Gold-Silver 8 

POSITION DENOMINATION AMOUNT

Discover other motorcycle guards and protection on our website.

https://www.motorcycleid.com/guards-protection.html
https://www.motorcycleid.com/puig/

